Title: Traces of intertwiners for quantum affine sl\_2, affine Macdonald conjectures, and Felder-Varchenko functions

Date: Apr 24, 2017 02:00 PM

URL: http://pirsa.org/17040051

Abstract: This talk concerns a family of special functions common to the study of quantum conformal blocks and hypergeometric solutions to q-KZB type equations. In the first half, I will explain two methods for their construction -- as traces of intertwining operators between representations of quantum affine algebras and as certain theta hypergeometric integrals we term Felder-Varchenko functions. I will then explain our proof by bosonization the first case of Etingof-Varchenko's conjecture that these constructions are related by a simple renormalization.

The second half of the talk will concern applications to affine Macdonald theory. I will present refinements of the denominator and evaluation conjectures for affine Macdonald polynomials proposed by Etingof-Kirillov Jr. I will then explain how to prove the first non-trivial cases of these conjectures by combining the methods of the first half and well-chosen applications of the elliptic beta integral. The second half of this talk is joint work with E. Rains and A. Varchenko.

Vin @ W. - (1) Wm-1 Wm-1) = Wm-1 Wm-1

$$\begin{array}{c} \begin{array}{c} \begin{array}{c} \begin{array}{c} \begin{array}{c} \left( 1 \right) & \left( 1 \right) &$$

$$Tr\left(\left(\begin{array}{c} (u,-1) \\ (u,-1) \\ (u,-1) \end{array}\right) \\ The sf(ue thechandle p-ly is \\ J_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k,m}(i, \lambda, w)}{Y_{\lambda,0,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k,m}(i, \lambda, w)}{Y_{\lambda,0,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k,m}(i, \lambda, w)}{Y_{\lambda,0,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)} \\ T_{\mu/k}, m (l_{1}, \lambda, w) = \frac{T_{\mu/k}}{Y_{\lambda,k,m}(i, \lambda, w)}$$

2. Alfine Max conj  
Trig conjectures  
Densin  

$$T_{r}(\underline{\pi}, \frac{2\lambda}{q})$$
  
 $= q^{2(d,\lambda)+2i} nult(\lambda)$   
 $= q^{2(d,\lambda)+2i} nult(\lambda)$ 

 $\sum_{i=1}^{n} \frac{1}{(q^{-2ni}; q^{-2ni})} = \frac{2(\mu, mp)}{\prod} \frac{m-1}{\prod} \frac{1-q^{-2(d, \mu+k\Lambda_0+mp)-2(\mu+$ 

$$\begin{aligned} & (\Delta q) (k_{m-s} \cdot V_{arclets}) \\ & (A + (q, mp, m, n)) = q^{2(\mu, mp)} \stackrel{m \cdot i}{f_{1}} \prod_{\substack{i=0 \atop j \in ais}} (\frac{1-q^{-i}(i, \mu kA, a, a_{i}^{2}) - 2_{i}}{q^{-i}(a, \mu_{i}^{2}) - 2_{i}})^{mH(k)} \\ & = \int_{A} \cdot (q, mp, m, n) = q^{2(\mu, mp)} \stackrel{m \cdot i}{f_{1}} \prod_{\substack{i=0 \atop j \in ais}} (\frac{1-q^{-i}(a, \mu_{i}^{2}) - 2_{i}}{q^{-i}(a, \mu_{i}^{2}) - 2_{i}})^{mH(k)} \\ & = \int_{A} \cdot (q, mp, m, n) = q^{2(\mu, mp)} \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop j \in ais}} (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop i \in ais}} (q^{-2i}, q^{-2im}) \\ & = \int_{A} \cdot (q^{-2i}, q^{-2im}) \prod_{\substack{i=0 \atop i \in ais}} (q^{-2i}, q^{-2i}) \prod_{\substack{i=0 \atop i \in ais}} (q^{-2i}, q^{-2i}$$

$$\frac{\operatorname{Adfine Hall}(\operatorname{Lint}, q \rightarrow 0, q^{M}, t^{K}, q^{W} \operatorname{carstart})}{\operatorname{Lin}(q, q^{-2w}) = \Delta(a, q^{K}, q^{-m})}$$
where  $\operatorname{L}(q, t, r) = \Delta(a, q^{K}, q^{-m})$ 
where  $\operatorname{L}(q, t, r) = \frac{(r^{2}t^{2}; r^{2}, q^{2})(r^{2}t^{2}; r^{2}, q^{2})}{(r^{2}t^{2}; r^{2}, q^{2})(r^{2}t^{2}; r^{2}, q^{2})}$ 

$$\int_{A, k, m} (q, \lambda, m) = \int_{A, k, m} (q, \lambda, m) = \int_{$$

$$\frac{1}{2} \begin{pmatrix} k & q & w \\ q & w \\ q & w \\ p, q \end{pmatrix} \begin{pmatrix} z \\ p, q$$

$$\begin{split} & \tilde{\Delta}_{\mu nk}(\lambda,\tau,n) \\ &= ( ) \int_{Y} \\ & \tilde{\Delta}_{2n}(\frac{1}{4},\tau,-\tau_{nk}) \frac{\theta(\frac{1}{4}+\lambda\tau_{n})}{\theta(4+2n,\tau,-\tau_{nk})} \frac{\theta(\frac{1}{4}+2n,\mu;-\tau_{nk})}{\theta(4+2n,\tau,-\tau_{nk})} \\ & \tilde{\Delta}_{2n}(\frac{1}{2}+\mu\tau_{1}+k,\tau-k\lambda+2+2,\kappa_{1}) \frac{\theta(\frac{1}{4}+2n,\tau,-\tau_{nk})}{\theta(4+2n,\tau,-\tau_{nk})} \\ & \tilde{\Delta}_{2n}(\frac{1}{2}+\mu\tau_{1}+k,\tau-k\lambda+2+2,\kappa_{1}) \frac{\theta(\frac{1}{4}+2n,\tau,-\tau_{nk})}{\theta(1+2n,\tau,-\tau_{nk})} \\ & \tilde{\Delta}_{2n}(\lambda,\tau,n) = \tilde{\Delta}_{2n}(\lambda,\tau,n) \\ & \tilde{\Delta}_{2n}(\lambda,\tau,n) = (1) \frac{\Delta_{2n}(\lambda,\tau,n)}{\theta(\lambda,\tau,n)} \\ & \tilde{\delta}_{2n}(\lambda,\tau,n) = (1) \frac{\Delta_{2n}(\lambda,\tau,n)}{\theta(\lambda,\tau,n)} \\ & \tilde{\delta}_{2n}(\lambda,\tau,\theta) = (1) \frac{\Delta_{2n}(\lambda,\tau,n)}{\theta(\lambda,\tau,\theta)} \\ & \tilde{\delta}_{2n}(\lambda,\tau,\theta) = (1) \frac{\Delta_{2n}(\lambda,\tau,n)}{\theta(\lambda,\tau,\theta)} \\ & \tilde{\delta}_{2n}(\lambda,\tau,\theta) = (1) \frac{\Delta_{2n}(\lambda,\tau,n)}{\theta(\lambda,\tau,\theta)} \\ & \tilde{\delta}_{2n}(\lambda,\tau,\theta) = (1) \frac{\Delta_{2n}(\lambda,\tau,\theta)}{\theta(\lambda,\tau,\theta)} \\ & \tilde{\delta}_{2n}(\lambda,\tau,\theta) = (1) \frac{\Delta_{2n}(\lambda,\tau,$$

$$\begin{aligned} 2(\mu,m_{1}) \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,\mu,h,h,m_{1}^{2}) \cdot 2\eta \stackrel{n+H(\mu)}{\longrightarrow} \right) \\ q'' \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,\mu,h,h,m_{1}^{2}) \cdot 2\eta \stackrel{n+H(\mu)}{\longrightarrow} \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,\mu,h,h,m_{1}^{2}) \cdot 2\eta \stackrel{n+H(\mu)}{\longrightarrow} \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,m_{1},\mu,h) \right) = T_{\mu} \left(\frac{1}{4} \cdot \mu,\frac{1}{4} \cdot (\mu,h,m_{1}^{2}) \cdot 2\eta \stackrel{n+H(\mu)}{\longrightarrow} \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,m_{1},\mu,h) \right) = T_{\mu} \left(\frac{1}{4} \cdot \mu,\frac{1}{4} \cdot (\mu,h,h,m_{1}^{2}) \cdot 2\eta \stackrel{n+H(\mu)}{\longrightarrow} \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,m_{1},\mu,h) \right) = T_{\mu} \left(\frac{1}{4} \cdot \mu,\frac{1}{4} \cdot (\mu,h,m_{1}^{2}) \cdot 2\eta \stackrel{n+H(\mu)}{\longrightarrow} \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,m_{1},\mu,h) \right) = T_{\mu} \left(\frac{1}{4} \cdot \mu,\frac{1}{4} \cdot (\mu,h,h,m_{1}^{2}) \cdot 2\eta \stackrel{n+H(\mu)}{\longrightarrow} \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,m_{1},\mu,h) \right) = T_{\mu} \left(\frac{1}{4} \cdot \mu,\frac{1}{4} \cdot (\mu,h,h,m_{1}^{2}) \cdot 2\eta \stackrel{n+1}{\longrightarrow} \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,m_{1},\mu,h) \right) = T_{\mu} \left(\frac{1}{4} \cdot (\mu,h,h,m_{1}^{2}) \cdot 2\eta \stackrel{n+1}{\longrightarrow} \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,h,h,h) \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,h,h) \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,h) \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h,h) \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h,h) \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot (\mu,h) \right) \\ \stackrel{n+1}{\longrightarrow} \left(1 - \frac{1}{4} \cdot$$

Tr (1- 9-2(d, M2KA0+M2)-2, mH(x)) 200 (1- 9-2(d, M2)-2)

$$\frac{1}{2}\left(\frac{1}{2}, \mu \downarrow k \Lambda_{0} + \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \mu \downarrow k \Lambda_{0} + \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \mu \downarrow k \Lambda_{0} + \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \mu \overline{\beta}\right) - 2i \qquad \frac{1}{2}\left(\frac{1}{2}, \lambda, \mu \downarrow \overline{\beta}\right) -$$

$$\frac{1}{q^{-2}(\lambda,\mu,\nu;\lambda,\lambda,\mu;\gamma)=2}, \frac{1}{m^{H(\lambda)}} = \frac{1}{Q_{0}(\lambda-1;\tau)} \frac{1}{T_{\lambda,1}} + \frac{1}{Q_{0}(\lambda,\tau)} \frac{1}{T_{\lambda,1}} + \frac{1}{Q_{0}(\lambda,\tau)} \frac{1}{T_{\lambda,-1}} + \frac{1}{Q_{0}(\lambda,\tau)} + \frac{1}{Q_{0}(\lambda,\tau$$